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45211229 shttwpwpwhwb wylvwmnmbpibkp nwpngbkph hwdwp 92 npwy 7,178,702 1 7,179
45211229 shbwpwpwhwb wrlounmbpbbp nmpogbkph hwdwp Q2 npwyd i 1 :
45211229 2htwpwpwhwh wrluwnmbpbkp pwpngbbph hwdwp Q2 npuy # 1
45211229 shbwpwpwhwb wolimnwhphk nghkph hwdwp 92 npwu N 1 N
45211228 shbwpwpwhwh wohwmwwhpbbp dwbhwwwpnbqubph bunimp Q2 npwi 16,231.184.0 1 16,231.2
45211228/1 2hbwpwpwhwh wolhimnwhpbbp ywhiwwywpnbqbbph hwdwn 92 npwu * 1 .
45221142 nlinhwbnmp shbwpwpomh wymnwbphkp ¥4 npu 1,695,550.0 1 1.695.6
45221142/1 phnhwinip shbwpwpwlwh wrwwwbpikp 74 npwy 28 1 N
45231126/1 nonguwh ungolwhwrwnbph jwemqiwt wosmnwbpbbp G2 npud 1 &
4523112672 nnnguwh nynjwhwywpbph jmomguwh wolwwnwbplbp G2 npuyd 1 -
45231126/3 nonguwh uonniubwswpbph jwemquwh wosmnmbphbp 2 npuu > 1 Y
45231126/4 nonguiwl uagnjwhwrwpbph juemquwh wosmnmbphbp L npuyd = 1 L2
45231126/5 nonguwh funnnjwhwrwpbph juemqimh wojsmnmbphbp L npuyd " 1 B
45231126/6 nonguwh uagnjuhwrwpbph jwemgiwh wolimnwbphbp Y] npuy 1 H
45231126/7 nnngumb njulwmowpk; wnniqiwh woliwwwmbpbbp S npuy * 1 =
45231126/8 nonguwh junynywhwownpbph jwenigiub wohiwwwbpbbp G2 npud & 1 *
45231144/1 Ynymgnr htan Yuwudwd wyluwnwiplbn Q2 pud N 1 &
4523114412 Ynymnn; hbw Yuwwydwd wyluwnwbpibp Q2 npwy : 1 '
4523114413 Ynyninny hbw juwgdwd wyluuwnwbplibp Q2 npuy * 1 Y
45231144/4 Yujomnn hbw juwwdwo wywnwiplbnp 74 npud 5 1 =
45231187 nwjwhwwnimb b wedwjwwywndob wpliwuwbpibkp Q2 npwu 6,989,810.0 1 6,989.8
45231216 thonnguihb hwhouph wknmopond L npwyd = 1 N
45261124 wwlhpbbph Jbpwinpngdwl wyiwwnwiplbn L npuy 7,423,210.0 1 7.423.2
45261124/1 wwlhplbph Jhpwinpngdwl wylvwnwlipbbn G2 npuyd 10,773,100.0 1 10,773.1
452611242 wwlhpbbph Jbpwinpngdwl wyiwnwiplbn G2 gpuy 18,689,220.0 1 18,689.2
45261124/3 wwihplbph JEpwinpngdwl wyuwnwliplbp 74 npud e 1 N
45261124/4 wwhplbtph JEpwinpngdwl wyhiwnwiplbn 9L npuy N 1
45261124/5 wwlbhplitiph Jhpwnpngdwl wzlvwnwlipbbp QL npwy ~ 1
45231127/1 whdnlwynbph bimugiwh ungowlwywpbph juongiwi wyuwmwlplbp QL npund * 1 =
45231129 phinnigdw( hbin | Jwd w)f plitip G2 gpuwd 9,314,570.0 1 9,314.6
45231129/1 glinnigiwb hbw Jwwywd w)luwnwlpbbp G2 pud 7,488.530.0 1 7,488.5
45231129/2 oh dwl bbw juwwwd wyh GpGkp Q2 npud 3,383.410.0 1 3,383.4
45231129/3 ghinmgiwi hbwn jwwywd w)wwowlplihp QL npud $,878,720.0 1 9,878.7
45231129/4 gtinnigiwl hbun Gwuwd w)luwwwbpbbp (¥ pwy 12,912,164.0 1 12,912.2
45231129/5 ghnmgdwl hbw jwwdwd wyliwnwipihp Q2 npuu 5,014,415.0 1 5,014.4
45231129/6 phinmgiwl hbw juuwd wih GpGhp QG npuy 6,336,769.0 1 6,336.8
45231129/7 ghinnigdwi htwn Juigfwd wyiwnwipltp Q2 npuud 14,419,283.0 1 14,419.3
45231129/7 glinnigdwi htin Juwwd wyluwnnwipltp 9z npud 24,292,730.0 1 24,2927
45231129/8 ghipmgiwi hbw juwwd wyjuwnwipihp qz o 23,613,770.0 1 23,613.8
45231129/9 phinnigdwi hbw Juuwjwd wyh Gplikp Q2 npwd 15,854,100 1 15,854.1
45231129/10 glinmgiwl hbw juwwdwd wyuwwwlpltp Q2 pud 22,208,680 1 22,208.7
45231129/11 glinnigiw( hbw Yuwdwd wyluwnwiplhp 92 e 13,559,590 1 13,559.6
45231131/1 9T Jwpwpiwi ungojwlwwptph hbw juwywd wpuwnwipGhp G2 npuud 2,687,970.0 1 2,688.0
4523113172 gpwiwmwlwpwpiwi juonpnjwlwwpbph hbw juwgwd wluwnwipibp Q2 npwy 6,931,370.0 1 6.931.4
4523113173 o Juwpwpiwl uogouwlwzwpbph hbu juowd wy} plbp QL npud 11,101,310.0 1 11,101.3
45231131/4 gpwiwmwlwpwpdwi jungnjwlw)wpbph bbn juopwd wyteuawipGbn 92 gpuyd 24,299,060.0 1 24,299.1
45231131/5 gpuiwmwlupupiwi jungmjulwzwpbph bbw juupjwd wphunwiphn Q2 npud 1,121,470.0 1 1,121.5
45231131/6 gpuiwmwiwpwpiwl junnojwlwiwpbph bbw juwywd w2luwnwliplbn Q2 npuyd 32,355,140 1 32,355.1
45231131/7 prulwmwlwpwpiwi juonojwlwwpbph hbn uuywd w2luwnwlpibn QL npuy 9,880,470 1 9,880.5
45231131/8 ll Jwpwpiwi uonojwlwwpbph hbw juupwd wruwnwipibp Q2 npud a 1 ”
45231131/9 L whwpwpiwl jungpywlwzwpbph hbw Juwoypwd wziiwowipibp fuU gpud 1 N
45231131/10 qummmmumpmpdmﬁ Junnnywlwywpbph bbn Juwfwo w2 uwnwipibn 942 npwu * 1
45231131/11 L Yuwpwpdwl juonodwlwywplph bbw jueywd wzjuwuwbpilp Q2 qpuwyd i
45231131/12 L unnoywlwywpbph bbn juwyws wvwnwiplbp Q2 npuud 3 1 "
45231131/13 medmmmhwp\umlwﬁ Junnoduljwzwpbph hbn juwupjwd wyhn plkp 92 npud a 1 g
45231131/14 T G b Jwlwywpbph hbw juywd wewnwipibn Q2 npud 1 -
45231131/15 gpwdwnmﬂmpmpdmﬁ Junfoywlw wpbph hbn juyywd wlnunwpibp G2 npwd * 1
45231131/16 97 I niwl unnnjwlwjwpbph hbw juuywd wpuwnwipikp Q2 npuud : 1
45231131/17 o piwl uonowlwywpbph hbw uwywd wyuwnwipibp Gz fpuud * 1
45231131/18 prdw-wuwpw{ldmﬁ unnnywlwzwpbph hbn juwywd whiwunwiplbp G2 fpuud N 1 -
45231131/19 op dwl junnowlw)wpbph hbw juwwdwd wuwnwbplbp Q2 pwyd * 1 i




4523113120 | ¢ puipdw Jungojwywowpbnh hbw Yuwwdwd wl ity 2 gpwl . 1 B
45231131721 |9 Ywpwpdw jungodwlwywpbph hbn Guwdws wly plibp Q2 npwu . 1 ¥
45231131/22 9T I fwl ungndwlwpwpbph hbn Juwwwd wy luwwwlplbp G2 il 1

45231131/23 gnuwl Jwpwpdwi ungogwlwywpbph hbn Jugjwe w) juwwnwbplibp S2 npwy : 1

45231131/24 gpwn Ywpwpdw( fungodwlwywnbph bbw | lwd wluwwwplbp 2 npwyd * 1

45231131/25 ? I G funnnjwywzwnpbph hbw jwwwd wyuwnwplbp 92 npuy 1 "
45231131/26 2 il piwi funojulwywpbph b Guygwd wyuwwnwlpitp 92 gpud b 1 g
45231131/27 Fpuwd 1 piwl funnnjwlwwpbph hbiwn Guuyjws wyhuwwwlplbp 9z npuyd - 1

45231131728 gpul Ywpwpiwi unnndwlwywpbph b juupjwd wznwnwlpibn G2 npuud X 1 A
45231131129 9] | puwi Jwlwywptph htn juuwd wyluwawpGlp QL npud t 1 ¥
45231131/30 il wpwpiwG uogojwlwywpbph hbn Juowy wzluunnwplbp G2 npuyd - 1 X
45231131/31 P Yuipupdwl unnnjwlw;wpbph bl juwgjwd wyluuwnwipGhn 92 qpuwyd 1 =
45231131/32 or Ywpwndwl junnojwhwswpbph hbw Juwdwd wyp pitn eu gpwd 1 >
45231131/33 gl junwpiwl junqojwlwwpbph b juedwd wluwnwbplibp Q2 g ' 1 S
45231131/34 gpund ' pdwl funnoywlwswpbph hbn juwgwd wyjuwnwiplbp Q2 gpuud - 1

45231131/35 g2 funnodwhwywnbph bbw juwydwd wzfuwnwipisp Qz npud 1

45231131/36 opul Ywpwpdw funpnwlwzwpbph bt Yuwdws wijuwnwipbhp RU pud * 1 =
45231131/37 g Y pUwG jungmjwlwzwnbph htn Y Jwd wyluwwnwlplitp G2 gpwd g 1 '
45211143/1 dwpquywi opjblnGliph Jepwinpngiwl L uuy il wyh Gp Q2 pwyd 9,980,410.0 1 9.980.4
4521114372 dwpquiwb opjbljnGhph by Jwl L nhdwi wyh pltp Qz npud s 1

4521114373 Jwpqulwi opjbyunilph Jbpwinpogiwd b wwwewpliul wiluwnwiplibp 74 npuy . 1 .
45231216 yronngwpG Ywhnyph whnugnnud 2 npud 3 1 *
45231177 Swbmymphbbph Jbpmbnpngquwh woyhwnwhpbkp Q2 npwyd 28,825,010.0 1 28,825.0
45231177/1 Swbwywphbbph JEpwinpogiwh wyhwwnwhbphtp 74 npund z 1 '
452311772 Swbwymphiikph Jbpwinpnguut wpwnmbphtp QL npund . 1 =
45231177/3 Swbwywphibph JEpwinpnquwl wylimuwbpbbp Q. npwy . 1 L]
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45311129/501 | vwppwinpaullbph whnuapuwh hundup A il | IaRalesg ! 1M
45311136 Gipulwjwbbkph wkquypdwh wyliwnwmbphbp 92 npuyd " 1

50751100 UEpkpwhbbkph yuhywinwh b Jkpmbnpnguwh wplimnwbpbbp %4 npud * 1 .

smnuympmibibp

71351540/1 wkthjwlwb JEpwhuynnmpyuh dwnwnipnibtp qz qpud 53,759.0 1 53.8
7135154072 ukbhjmiwh JEpwhulnympymh swnwjnipnibtp Q2 npud 186,292.0 1 186.3
71351540/3 ubbhjwhwh JEpwhujnympjub dwpumpmbtkp QL gpud 373,784.0 1 373.8
71351540/4 wkpubhjwlhub Jbpwholnynipiwb dwpujnemibbp [=¥) gy 148,464.0 1 148.5
71351540/5 wkubhjwlwb Jbpwhulnynpwh dwownpmibtkp Q2 ol 67,668.0 1 67.7
71351540/6 wkubhjwlwb Jbpwhulnynpmb dwewjnipnibbkp %3 gl 14,977.0 1 15.0
7135154077 ukubpjmiub Jkpwhulnynipwh Swownpnibbbp Q2 o 288,385.0 1 288.4
71351540/8 ukubhjwlwh Jipuhugnympyuh dwewmppihitp Q2 gpud 197,574.0 1 197.6
71351540/9 nkbhjmiwb JEpwhulngoip)juh dwewmpymikp G2 gpwy 138.627.0 1 138.6
71351540/1C wkpubpjmjub JEpuhunympjwi sunwmipnitkp Q2 pud 258,243.0 1 258.2
71351540/11 ukubhjwiwh JEpuhungnpjub swewnpnibibp QL gpuy 100,288.0 1 100.3
[71351540/12 wkthjmywh JEpwhulngnipjul Sunrumipmibikp Q2 gpwy 485,854.0 1 485.9
71351540/13 wbhbhlojwh JEpuhulaqnipiut dwewnipndbEp Q2 npud 222,026.0 1 222.0
71351540/14 nkubhmywh JEpwhunnnipiut Swowmnippibbbp G2 npund 215,462.0 1 215.5
71351540/15 ubpbhymiwh Epuwhunnnipiut Swowmipinibbbp %2 npund 336,833.0 1 336.8
71351540/16 wkhbhjmiwb JEpuhulagmpuh Swowmipnitibkp Q2 gpud 324,623.0 1 324.6
71351540/17 wklbhjniwh JEpwhuonmppub supwmipmtbtn Q2 npwy 126,735.0 1 126.7
71351540/18 wtubhimbwh JEpwhujnnnipjul Swnwmpmbbkp qz gpud 33,911.0 1 339
71351540/19 nkubhjwliwh JEpwhuionoupjwh Swomnipmibbkp qz npwy 472,275.0 1 472.3
71351540720 wbjubhjmwh Jbpwhulnnnipywh Swownipnibkp Qr npud 5,765.0 1 5.8
71351540/21 wkjubhjnlwh Jipwhuonoupywh Supmnipymbbkp qr npuwu 199,608.0 1 199.6
71351540/22 ububhjmwh JEpuhulngnipymb dwownipnthbtp q.r npwy 485,981.0 1 486.0
71351540/23 uthbhjmiwh Jipwhulnnnipjub dwownipoiblikp 24 gpud 22,430 1 224
71351540724 wububhjmijwh Jipwhulannippub Swoumipmibhkp Q. npud 139,796 1 139.8
71351540/25 ububhjmwh Jipuwhunnnipjub Swewnipnibbkp qr npuwu 317,082 1 317.1
71351540126 wublbhjwlwh Jipwhujnnmpot dwewmipmnibikp QL npuud 444,173 1 4442
(71351540727 ubjubhjmiwh Jipwhulnnnippub Swownpmibbtp G2 npwd 271,192 1 271,192.0
71351540/28 wubjubhjmyub Jipwhulnnmppoh Swewnipnibiby QL npuu 143,574 1 143.6
71351540729 ukubhmiwh Jipmhunnnipynh dwrwnipmibikp q2 gpwd 197,609 1 197.6
71351540/30 ubjbhjwhwh JEpwhulnnnipjuh dwewnipmibukn 92z fpwud 5 1 b
71351540/31 wubpuhjuiwb JEpwhulnnnpwh swerwnienbibn 9z npuwu N 1

71351540/32 ukjbhjwwh bpwhulanmpejwb Swowmpnibikp qz gpwu o 1

71351540/33 wnkpuhjmwh JEpwhulnnoipwb Swowjmpnibbbp qz qpud ¥ 1 ¥
71351540/34 wbthjmbwb Jbpuhulnnmpimh Swowmpnibbp £Y4 ypwd = 1 £
71351540/35 wkpihjmijwh JEpwhunynpjub Swowmpnbbkp 4 gpwyd 3 1 g
71351540/36 whkuthjwiwh JEpwhuinympjuh Swowmpntabkp qQr fpwyd . 1 -
71351540137 ukubhjmwh JEpwhulnympjmb supmmpynibbikp q gpud * 1 ke
98111140/1 highbwhwhb hunympyub Swpmympnibibp uu npwd 25,072.0 1 25.1
9811114072 hEnhbwhmyht hulnympjub swowjmpnibubp Uu pund 46,573.0 1 46.6
98111140/ hEnhtwlwihb hulngm pywh Swnwjnip)niikp Uu gpwd 16,917.0 1 16.9




98111140/4

TEnhbok

1] 1ht hulnnnipjmb dwownipniaitp Uu npuyd 37,442.0 1 37.4
S8111140/5 hEphbutjuwhh Bujnnoipywh bwnwjnienittty Ul npuy 49,393.0 1 49.4
9BT11140/6 bnhbuluhl hulnnopjw bwnwnipmohty UU gpud 27.725.0 1 27.7
98111140/7 hEnhbwhwhb hulnnnipjwh dwnwnipjnibukp UlU g 64,560.0 1 64.6
98111140/8 hEghbwluihb hulnnoipjuh dwrwmpnibbkp Uy gpuwd 10,751.0 1 10.8
'9_81 11140/ hknhbwlw)ht hujnnoiput bunwnpnibbkp Uu qpwi 144,125.0 1 144.1
98111140/10 hknhbwlhwht hulnnmput Swnwjmp)nibkp Ul gpuyd 84,208.0 1 84.2
98111140/11  [hEnhbwhuih hulngnupyul SwnwjnipinibhEn Uu gpud 93,446.0 1 93.4
98111140/12  |hkqhbwbuhk huljnnnipjmb dwewjnipimbitp Uu opad 37,116.0 1 37.1
98111140/13 hinhlimlwhb hulnnnipmt Sdwownipjnihtp Uu npud 49,902.0 1 49.9
98111140/14  [hEnhbwhmyph huljnnnipjwh swnwmipmititp Uu npud 72,096.0 1 721
98111140/15  |htnhbwlu)hl bulnnnipymi dwnwnipmiihEp Uu npmd 55,506.0 1 55.5
98111140/16 hkghtmiuwht hujnnnipmmb Swnwnipniblkp Uu fpud 121,463.0 1 1215
98111140/17 hbnhbmlw)ht huinnopuk dwnw)mpymubkp Uu npwd 53,865.0 1 53.9
98111140/18 bEnhbmju)ht hulnnmpjul burwym pyn GiEp Uu qpud 99,717.0 1 99.7
98111140/19 hEghbwlwht hujngnpput Swowjnipymbkn Ul npuwy 10,173.0 1 10.2
98111140720 hEnhbwljwiht hulnqoput Swpwnipnibbbn Ul iy 141,683 1 141.7
98111140/21 binhtwlw)hb huljagnipyut Swnwjmpmibknp Uu npud 38,020 1 38.0
98111140722 hEnhimywjht hujngnieyut bwrwmnipnibitp Uu npuyg 97,387 1 97.4
98111140/23 hknhtmijwjhb huljannipymh Swnwnipmibukp UU npuyd 41,938 1 41.9
98111140/24 hbnhtwlw)ht huynnnipjah Swnwnipmihikp Uu npwu 79,270 1 79.3
98111140/25 hbnhtwlwhl hujnnmpyub wnwnipmintp Uu gpuyd 133,252 1 133.3
98111140/26 hknhbwhmhb hufnnnipymb Swnwnipjnilibkp Uu npwy 67,797 1 67.8
98111140/27 htrll'lbmllm;hh huljnnmpwh huml.ujnl.]a]mhbl:.rl UU npwd 35,893 1 35.9
98111140/28 hEnhbwluht hufnnnipmmt dwnunipnibikp Ul gpund 59,282 1 59.3
98111140/29 hEnhbwlw)hb hufnnnipmt Swowjnip)othikp Uu gpud ’ 1 ’
98111140/30 hEnhbwlw)ht hufnnnipjwh Swpwnipmibbbp Ul gpund 1
98111140731 hinhbwlwhb huljngnipput SupwmipnGatn Uu gpuyd G 1
98111140/32 hinhbwlmhl hujnnnipjuh Swewnipniiatp Ul npwy 1 5
98111140/33 hEnhtwluwhb hulngoipyuh swn wmipoiibtp Uu qpwy . 1 x
98111140/34 hEnhtwlw)hb huljannipyut Swnwjnipnibikp Uu pwy a 1 #
98111140/35 hknhbwlhuyhb hulnnnipjmb swownpmuttp Uu npwyd % 1 i3
98111140/36 hnhbwhwjhb hulnnnipymb dwowjnipjniblikp Ul npund N 1
98111140/37 hknhbwhwht hulnnn pjwh swnwnipmahtp Uu gpwy * 1
98111140/38 hEnhiwlwhb huljnnmpywn bwnw)nipjnibikn Uu gpud 6,728 1 6.7
98111140/39 hEnhbmlwhb hulnnoipmb Swowgnpn thbkp Ul fpud 97,387 1 97.4
98111140/40 hEnhbmlju)ht hujnnnipjml Swrwjmp)nibibbp Ul qpuni 38,020 1 38.0
98111140/41 hEnhbwlwyht huynnnipjwh Swnwnipjnihikp Uu fpud 10,173 1 10.2
98111140/42 bEnhbwluhb huljngnipyut Supwmpmbatn Uu gpund 141,682 1 141.7
98111140/43 hinhbwlwht hujagoupywl bwpwmnipmttEn Ul gnmy ¥ 1 4
98111140/44 hEnhbwluyhb hulngnipjul Swewnipyniausn uUu npmu 1 *
98111140/45 htnhbiwlwhb hujnnnipymb dwn wnipjnihikp Uu npmyd * 1 2
98111140/46 hbghlwlmyhh hulngmpjuk swpwmnipmibit Ul npuyd ® 1 1
98111140/47 hEnhbwlhmhb huljnnnippmb dwownipmuttp Uu gpuyd X 1
98111140/48 hnhbwlwyhl hujnnnipjuh Swowjnipmbbbp Uu gpwyd i 1
98111140/49 hEnhtwlwht huynnnipjub Swowjnipmibbbp Ul npud 1 H
98111140/50 hinhtwlhwht bulonmpjwh swownipmiibEn Ul pud . 1
98111140/51 hEnhbwhwiht hujngoipjwh swpwnippiiEp uu gpud N 1
98111140/52 hEnhbmbw)ht huljnnoipjwh bunwnipnibikp Ul fpund L 1 "
(8111140753 hEnhbwmlw)ht hulnnnpjmb dwnwniegmtnkn Uu g * 1 s
98111140/54 htnhbmlw)ht huljngnipymt SwupwniEmnithtn Uu gpud . 1 N
98111140/55 hEnhiwhwhh huljngnipymb Swrwjmpmbbbp Ul gy b 1 =
98111140/56 hEnhbwlwiht hujnnaippot Swewnipniiatn Uu npuu L 1 N
98111140/57 bEnhbwlwihl hujngnipjwh Swewnipmbakp Uu gy 1 Lt
9811114058 [htnhbwlwjhh hulnnnipjut swnw)nipnioutp Ul oy - 1
98111140/59 hbqhlwluyhb hulngmpjul Swowmipniabtn Uu qpud i 1
98111140/60 hEnhtiwlubb huljngoipjwb swpwmipniELER Uu g * 1 .
98111140/61 hknhbwlujhb huljnnaipub Swpwnipniuttp Uu gpud 2 1 L
71351540/38 ukbfubhjulwh huljpnnipjwh SwewyniEndikp Q7 gpuyd - 1 B
71351540/39 wbjubhuljwh huagopwd wnwnipmbibp Q2 gpud % 1 .
71351540/40 ukbihwhwh hulngnipjwt SwewjnipyobiEp Y gl T ! =
71351540/41 ukihjwhwh huyngmppu Swomjmpnihikp qr npud * 1 "
71351540/42 ubpthjuwlwh hulngnipjwb Smowjnipmbbsn Qz npud ¥ 1 2
71351540/43 ukbfubhjwlwh hulngoipuh Swnumpmibbbp QL gpud * 1 "
71351540/44 ukubhjwiwh hulagnipjwh Swewnipmuutp =¥) gpud 4 1
71351540/45 ukulhjuwlnh hujagmpuh dwewnpmbitp qz npud 1
71351540/46 ukbhjwhwb hulngmpjub swrwnipniattn Qz gpud ! 1
71351540/47 ukpihjwhwh hulngnipjub swpwmnipmiahEp Qz gpwd . 1 N
71351540/48 ububhjuwb hujnnniput Swnwjnipjnibbbp q2 g 1 ‘
71351540/49 ukbhjulwh hulnnnipmt Swownipmttp 92 gy * 1
7135154050  Jwblubhjwhmb hulngnipjulh dwowmnipmittkp Q2 gpwyd o 1 :
71351540/51 ukfubhjwlhwh hujngnipub dwpwympmbltn Gz gpuyd - 1
71351540/52 ububhyuimb hujngnippub dwewnpnibbip 74 npuyd 1 .
71351540/53 ukjbhjwhwh hungnipjul Swewmpmitttp G Tpwd 1 ]
71351540/54 ubihiwhwh hujngoipyub Sunwmipnititn Q2 npud . 1
71351540/55 ukulhjwiwh hulagnpywb SwowjnpymbbEn %4 jpwd 1 k]




[71351540/56 _ [wEuUpquywh hugannipyml Swnmym pjntaben a2, npwu 1
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